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 M.M. 70

	Note : 

1. This question paper is divided into sections.
2. Section – A consists 30 marks.

3. Section – B and Section – C are of 20 marks each.
4. Answer the questions after carefully reading the text.


	Section – A



	Q 1. 
	Answer the following questions.    
	

	
	a) What is shareware? How is it different from freeware?
	2

	
	b) Write short note on -          i) Linux                 ii) PHP
	2

	
	c) How is a back-end linked to a database and a server?
	2

	
	d) What are the various things designed in “Design” phase of SDLC?
	2

	
	e) Explain the use of UML.

	2

	Q 2. 
	Answer the following questions.
	

	
	a) What is the extension of a module file and  code file in VB.
	2

	
	b) Differentiate between the Load and Show methods of a form object. 
	2

	
	c) Explain the term ADO. Name any two methods used to navigate through ADO recordset.
	2

	
	d) What are decision making statements? Name the decision making statements supported by VB.
	2

	
	e) Differentiate between SDI and MDI interface. Give one example of each.
	2


	Q 3.
	a) Write any two advantages PL/SQL over SQL. 
	2

	
	b) What is a view? Why does a view not require any physical storage?
	2

	
	c) State one difference between –

      i) Row level and Statement level triggers.       ii) Anonymous and Named block 
	2

	
	d) What is the use of ‘Exception’ section of PL/SQL block? Explain with example.
	2

	
	e) What is SQL cursor? How is it different from explicit cursor?
	2

	Section B



	Q 4. 
	Read the following case study and answer the questions that follow.
	

	
	Mr. Kapoor works in Fashion Textile as a programmer. He is required to develop an employee salary calculator. The company has two types of employee, regular and casual. The company also offers 10 % of their salary as an incentive to the entire employee if they do not take any leave during a month time. Also there is a bonus equal to one month salary to the regular employee in the month of January. 

Object Type

Object Name

Description

Form

FrmSalary
Main Form

Text Box

textName
To enter employee  name

txtLeave
To enter leaves taken by employee
txtIncentive
To store incentive
txtMonthSalary
To enter monthly salary
txtTotSalary
To store total salary
Option Button
optRegular
To select for regular employee
optCasual
To select for casual employee
Command Button

cmdCalcInc

To calculate incentive amount
cmdCalcSalary

To calculate total salary
cmdClear

To clear the entered values
cmdExit

To close the application
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	a) Write the commands to disable the textboxes txtIncentive, txtTotSalary and set the focus on textbox txtName.
	1

	
	b) Write the code for cmdClear command button to clear all the text boxes and set the focus on cmdExit command button.
	2

	
	c) Write the code for cmdCalcInc to calculate the incentive of the employee and display it in txtIncentive depending on the leave records.
	2

	
	d) Write the code for cmdCalcSalary to calculate the total amount of salary in January month and display it in txtTotSalary on the basis of job type. Remember the bonus condition given in the beginning of a question for the regular employee.
	3

	
	e) Write the code for cmdExit to close the application, before closing the application it should display a message “Do you really want to close the program (yes/no)?”. If user select yes it should close the program otherwise set the focus on textbox txtName.
	2

	Q 5.
	a) Find the error from the following code segment and rewrite the corrected code underlining the correction made(VB): 

Private Sub Convert(a ; b as number)
       C = A + B

       Select case C

           Case 1

                Print “Excellent”

           Case 2,3

                 Print “Good”

            Default case

                 Print “Poor”

       Sub End
	2

	
	b) Find the output of the following code segment:

     i)  dim st as string,s as integer,t as integer

          st =MID (“Year of Luck 2009”,14,4)
          s =Val(MID(st,1,1))* Val(MID(st,4,1))
          t = Val(MID(st,1,1))+ Val(MID(st,4,1))      

           print s*t;
    ii) Print 11 and 7
	2

	
	c) Change the following code using For loop without affecting the output.
    Dim count, ans
    Ans=5

    Count = 25

    DO 

        Ans = ans + Count

        Count = count – 3

         Print Ans*Count;

    Loop Until count <= 8

    Print ans;
	2

	
	d) Write a function funCount that takes a string argument and returns number of Vowels present in it.
	2

	
	e) Write a procedure procCheck that takes in year of birth of a person as an argument. It displays a message box indicating how many years are left for the person to reach the retirement age of 60. If the user is older than 65, wish him/her for a long life.
	2

	Section C



	Q 6. 
	Answer the following question.
	

	
	a) Write the output produced by the following part of code in PL/SQL. 

DECLARE

    Num NUMBER:=1;

BEGIN

         FOR I IN 1..3 LOOP

            FOR J IN 1..2 LOOP

                DBMS_OUTPUT.PUT(Num||’ ‘);

                Num:=Num+1;

            END LOOP;

           DBMS_OUTPUT.NEW_LINE;

         END LOOP;

END;
	2

	
	b) Find Error in the following code, underline errors and rewrite the correct code.

   DECLARE

    Bonus NUMBER;

    Commission NUMBER;

     Status BOOLEAN :=’True’;

 BEGIN 

    Bonus<Commission:=Status;

    Dbms.output_Put.Line(Status);

END
	2

	
	c) What is the difference between trigger and stored procedure?

	2

	
	d) Write a PL/SQL function EvenOdd that takes N as IN parameter and returns True if the number is even otherwise False.
	2

	
	e) Write a PL/SQL stored procedure Fibonacci to display the Fibonacci series up to N. Where N is passed as IN parameter.
	2

	Q 7. 
	Answer the following question based on the SALES table.

Table : SALES
Column Name

Data Type

Size

Constraint

Description

SNum
NUMBER

6
Primary Key

Sales Person’s ID number
SFName
VARCHAR2

30

NOT NULL

First Name of sales person
SLName
VARCHAR2

30
NOT NULL
Last Name of sales person
City
VARCHAR2

10
City of sales person
TotSales
NUMBER
9,2
Total Sales achieved by sales  person
Comm
NUMBER

8,2
Can not be less than 100
Commission earned by sales person

	

	
	a) Write the SQL command to create the table Sales including its constraints.
	1

	
	b) Write the SQL command to create a view consisting of all the sales person working in Delhi city.
	2

	
	c) Write a PL/SQL block to delete those sales persons whose total sales is less than 4000. 
	2

	
	d) Write a PL/SQL procedure Report to display city and total sale of the city. City is passed as IN parameter.
	3

	
	e) Write PL/SQL code to create trigger Autonum which generates next persons ID number if a new row is inserted in to a table.
	2
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